A & ol & AF & Ml A
20145 & 20 & L BH3

200 Al2l=+=¢

210 o HAM A=

09 i 0

212 gz +¢ (&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2

E5 Al 36,857,473 30,672,572 6,184,901

200 M2l +=¢ 382,750 381,900 850

210 & HAN 2= 360,250 360,400 A 150

212 AHBE ¢ 359,950 360, 100 A 150
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OdsgEHLHE ANER 150
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OJIEt Ol Rb==¢ 300

220 SAIFHAN2 = 22,500 21,500 1,000
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OFAEESY < HES 7,500
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[ et A ] 15,000 15,000 0
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< ME=EX 2> 1,621,499 1,617,814 3,685
Oogditel &= 3,300
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OMIt-ol SXAE 29 116,142
0Z2g 29 148,889
OO0tsAlE 24 201,620
OOS2Al X (§S, Yat5) 286, 192
OOLSZ Al XI® (X% 0HS M Ef 48,540
OXH9IS YS N 35,424
(OENCENEW] PSR 1,260
OSl40lE NYHHS X 9,450
OO HESHE 29 3,400
OO +5SHHE 29 54,000
OZMASNZ 29 396, 115
OBATHOIS LHOIY 43 2,000
oo=xa 29 155,000
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[ B3I ] 27,529,820 21,873,621 5,656, 199
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OZzg sZJ| e 93,750
oZzg 234l XN& 22,678
OZ2Z Wy X 6,250
OMTHAOILT X %X 2l Abe] 22,000
OO0ts =X WA 212 H| 47,040
OOSZLH I X & 29,645
OXOISHE 2% X2 168,616
OULOE SF+Y X 9,630
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ghr 521 Al - EHIEXZE (Sl &&)

Zg-2-g-5 Off &4 & E 0l At Hr&E2
O dE=X72Y HEZ220| 10,811
OMAS 22t X& 15,300
OMASs 22 = HHusH XA 2,859
OAdIMNE gdst N 3,300
ODIE2=E g X2 840
OU2stits SX XN (HEY ) 1,500
Ot=2zitEx =X XN&E 5,000
OUZ2stE AL K& 5,200
ONdZE018XT A0 2A=E XE 2,520
ONdZE02Xt U2IHEXN2AME B HE 3,000
OWd=XAE SALR X & 2,600
OSEg0iU Al 900
OHOHK, =522 XA 1,500
otlztatga 28 9,000
odd Jlsssus XN& 2,160
Ond=2t At X & 2,200
OndsEigdy 22 29 80,000
O=cltd EsE 1,234,215
OUAESAIL 3 1,120
OO0 0lAOE HEXZOIMEIA 2= 5,666
ESAMNE dHEE X2 2,115
O0elold WM WAL 218 X& 500
SSANE SAXR HRHMA 21,240

ogztojelold &A= Hl XA 2,240




